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English Version :
(Use a separate Answer book for each group)

Group—A

Answer any four questions of the following : (4 x 5)

a) Isthere anything which is meaningful, but not word? Explain with example.

b)  What is meant by 'Type-Token' ambiguity?

c) Distinguish between defining characteristics and accompanying characteristic. What
type of characteristic is mentioned in the following propositions :
i)  Books contain paper.
i) Birds can fly.

d) 'If a state of affair is logically impossible, then it is both empirically and technically
impossible’.—Explain with example.

e)  Areall concepts based on experience? Write with example.

f)  Write, with example, different meanings of the word "meaning".

g) Discuss different objections, which are raised against the distinction between analytic
and synthetic judgement.

h)  What is meant by '‘Coherence’ in the Coherence Theory of Truth?

Answer any two questions of the following : (2 x 15)

a) i)  Whatis meant by ostensive definition?

i) Can it be called a fundamental definition? Explain.

iii) Is there any word which can be defined only ostensively? Discuss with example. (6 +5 + 4)
b) i) Critically explain the correspondence theory of truth.

i) Explain the senses in which the word ‘true’ or ‘truth’ is used in the following

sentences:
a) My wish had come true.
b) Can you draw a true circle? (11 +4)

c) i) Discuss, with example, at least three uses of the verb 'to know'.
i)  Explain different conditions of propositional knowledge.
i)  In what sense the word 'know' has been used in the following sentences?—
a) Johnknowsthat7 +5=12.
b) John knows the city of London. 6+7+2)
d)  What is meant by vagueness of a word? Explain different causes of vagueness. (3+12)
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Group—B

Answer any four questions of the following :

a)
b)
c)
d)
e)
f)
9)
h)

Clarify the concept of rpa.

What is purusartha?

What is niskama karma?

Make a difference between svadharma and sadharanadharma.
What is categorical imperative?

What is psychological hedonism?

What is utilitarianism?

What is the difference between moral and non-moral actions.

Answer any two questions of the following :

a)
b)
c)
d)

Discuss in detail the theory of ahimsa as accepted in Jaina ethics.

Explain the ideal of karmayoga after the Gita.
Explain Kant's moral theory following Frankena.
What exactly is the object of moral judgement? Discuss.
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